Bapianr 1.
Find the mistakes in the texts and write the appropriate number

#1. He didn’t say any more, but we’ve always been (1) unusually communicative in a
reserved way (2), and | understood that he meant a great deal more (3) than that. In
consequence, I’m inclined to reserve all judgments (4), a habit that has opened up (5)
many curious natures to me and also made me the victim of not a few veteran bores.
The abnormal mind is quick to detect and attach itself to this quality when it appears
in a normal person, and so it came upon (6) that in college | was unjustly accused of
being a politician (7), because | was privy to the secret griefs (8) of wild, unknown
men. Most of the confidences were unsought — frequently | have feigned sleep,
preoccupation, or a hostile levity when | realized by some unmistakable sign that an
intimate revelation was quivered at the horizon (9). (...)

1)17 2)23 3)45 4)69 5)89

#2. Some diamonds have being helped (1) fund devastating civil wars in Africa,
destroying the lives of millions. Conflict diamonds is those (2) sold in order to fund
armed conflict and civil war. Profits from the trade (3) in conflict diamonds, worth
billions of dollars, were used by warlords and rebels (4) to buy arms during the
devastating wars in Angola, the Democratic Republic of Congo (5) (DRC) and Sierra
Leone. While the wars in Angola and Sierra Leone are now over, and fighting in the
DRC has decreased (6), the problem of conflict diamonds hasn't gone away.
Diamonds mined in rebel-held areas (7) in Coéte d'lvoire, a West African country in
the midst of (8) a volatile conflict, are reaching the international diamond market (9).

(..)
1)24 2)25 3)12 4)37 5)19

#3. Sometimes work, study or a sense of adventure take (1) us into (2) our familiar
surroundings to go (3) and live in a different culture. The experience can be difficult,
even shocking. Almost everyone who studies, lives or works abroad has problems to
adjust (4) to a new culture. This response is commonly referred (5) to as ‘culture
shock’. Culture shock can be defined as ‘the physical and emotional discomfort a
person experiences when entering a culture different from their own’ (Weaver, 1993).
For people moving to Australia, Price (2001) has identified certain values which may
give rise to culture shock. Firstly, he argues that Australians place a high value on
independence and personal choice. This means that a teacher or course tutor will not
tell students what to do, but will give them a number of options and suggest (6) they
work out (7) which one is the best in their circumstances. It also means that they are
expected to take (8) action if something goes wrong and seek out (9) resources and
support for themselves. (...)

1)24 2)16 3)57 4)69 5)45



#4. The Great Wall of China is known to be (1) over 1900 kilometres long, making it
by far the longest wall in the world. The building of the wall is said to have begun (2)
in the third century BC by the Emperor Shih Huangti. The reason it was built (3) was
to keep the Huns out of Central Asia. A lot of effort was put (4) into constructing the
wall. It is made of (5) earth, stone and brick and its highest section is close to nine
metres. Over the centuries, the wall has often been added to, rebuilt and repaired.
This was done (6) to give China protection from invaders. Despite its size, however,
the wall failed (7) to put a stop to invading armies such as the Mongols and the
Manchus. The wall is still in (8) great importance, as it divided (9) Inner China from
Outer China. What is more, it is useful for dividing the region into cultivated land and
pastureland. (...)

1)78 2)26 3)89 4)14 5)58

#5. Whenever we read (1) about the natural world nowadays, it is generally to be
given dire predictions about its imminent destruction. Some scientist been went (2) so
far as to assert that from now on, the world can no longer be called 'natural’, insofar
as future processes of weather, climate and all the interactions of plant and animal life
will have been no longer carry on (3) in their time-honoured way, unaffected by
humans. There will never be (4) such a thing as 'natural weather' again, say such
writers (5), only weather affected by global warming. It is (6) hard to know (7)
whether to believe such prophets of doom, possibly because what they are saying (8)
seems too terrible to be true (9).(...)

1)23 2)17 3)68 4)45 5)39

Fill in the gaps with the words from the options below. Write the appropriate
numbers in the same order WITHOUT PUNCTUATION MARKS.

#6.The station was (...) an easy walking distance (...) the hotel. (...), (...) the exception
of Sally, everybody was exhausted and called a taxi.

1)at a; 2)in; 3)from; 4)with; 5)however; 6)besides; 7)fore; 8)near; 9)within; 10)about;

#7.(...) the way many young people become addicted (...) drugs (...) ignorance.

1)into; 2)for; 3)by; 4)through; 5)from; 6)beyond; 7)on; 8)of; 9)over; 10)to;

#8. Alan had been looking (...) (...) that day (...) quite a while. Yet he was not free
(...) a feeling of vague apprehension. Not that he feared Jean would not get (...) (...)
his mother.

1)with; 2)for; 3)forward; 4)to; 5)of a; 6)about; 7)from; 8)along; 9)beside; 10)off




1)

#9. All his life he had lived (...) people who looked (...) him, who instructed him and
protected him. He was sick (...) it.

1)of; 2)from; 3)with; 4)with a; 5)on; 6)for a; 7)upon; 8)after; 9)in; 10)in for

#10. The studio was poorly furnished (...) low sofa and a couple (...) chairs. But it was
full of canvases, some standing (...) corner, others hanging (...) the walls.

1)with; 2)of; 3)in; 4)of the; 5)under; 6)from; 7)with a; 8)behind; 9)in the; 10)on

Choose the correct answer and write in the proper number in brackets
#11. In what way was the Past tense of the OE weak verbs formed?

1) by means of the suffix -ed, -ode and -de

2) by the change of the stem vowel

3) by adding prefixes

4) by a suppletive form

#12. ldentify the underlined fragment in terms of stylistics:
| should think so, my dear — yes, | should think so.
1) euphemism  2) epanalepsis  3) simile  4) oxymoron

#13. Verb-phrase to tour the country expresses

1) instrumental relations

2) overlapping relations of manner and consequence
3) temporal relations

4) local relations

#14. The hill was washed with faint March sunshine.
simile  2) metaphor 3) hyperbole  4) zeugma

#15. ldentify the place(s) containing breach of the language norm (underlined) and
write the appropriate number (or numbers, if more than one, in the GROWING
sequence WITHOUT punctuation marks) in brackets:
I would be a rich men if | not had four good-for-nothing sons to hang on

1 2 3 4
me. (coovevviinnnn. )
4

Choose the correct answer and write in the proper number in brackets
#16. How many classes did Old English weak verbs fall into?
1) three 2)seven 3)eight 4)two




1)

#17. Unlike borrowings, (....) have not entirely been assimilated into the English
language.

1. slang words

2. archaisms

3. poetic words

4. barbarisms

#18. Examine the following sentences pointing out the one with a detached adverbial
modifier of attendant circumstances :

1) An engine with a number of tracks was creeping up spluttering and snorting,
halting and knocking.

2) What will you do with yourself?

3) He was walking fast, with a large parcel under his arm.

4) My childhood was passed with my grandmother.

#19. But that’s not the worst, - no, not the worst.
anaphora  2) epiphora 3) framing 4) anadiplosis

#20. ldentify the place(s) containing breach of the language norm (underlined) and
write the appropriate number (or numbers, if more than one, in the GROWING
sequence WITHOUT punctuation marks) in brackets:
Her father was so nearly the truth that she thought she would have to tell
1 2
him the whole story there and then. (............... )
3 4

Haeedimv npasunvhy 6i0noesios (6ionoeioi) ma 3anuutime 6i0N0BIOHUIL HOMED
(Homepu) y nopaokKy 3pocmanus 6e3 po30inosux 3HAKIG.

#21. BkaxiTh, XTO 3 HaBEJICHUX aHTIINCHKUX POMaHTHKIB HalexkaB 10 ,,O3epHOi
IITKOJIN

1) C. Konpimx
2) TL.b. emni
3) B. Bopacsopr
4) P. Cayri

5) B. Ckortr.

#22. ,,Cka3aHHS IPO CTAPOTO MOPEXOIS — IIe moema

1) C. Konpimxa
2) B. Bopacsopra
3) P. Cayri

4) JIx. Kirca

5) T.C. Eniora.



#23. Busnaure xxanp tBopy B. Ckxorra ,,ABEHT0’

9

1) pomaH BUXOBaHHS

2) emicTOoSApHUN pOMaH
3) icropu4HHi poMaH
4) pomaH-Mid

5) nmipo-eniyHa rmoema.

#24. ,,3inpHenuii [Ipomereii”, ,,Uenui”, ,,KoposeBa Mab” — BKaXiTh aBTOpa IIUX
29 2 2

TBOPIB:

#25. BkaxiTh, SKi 3 HaBeJICHUX MoeM balipoHa HajexaThb 0 [UKITY ,,CX1THUX MoeM’:

1) TL.b. Hlemmi
2) T. me Kginci
3) P. Cayri

4) Tx.I. Baiipon
5) k. Emior.

o

1) ,Isayp”
2) ,,Jlon XKXyan”

3) ,.JTamomuwurnreo Yaiinea ['aponbaa”
4) ,Maudpen”
5) ,.Kopcap”.

Haesedimv npasunvhy 6i0noesios (6ionoeioi) ma 3anuutime 6i0N0BIOHUIL HOMED
(Homepu) y nopaoky 3pocmanns 6e3 po30iioeux 3HAKIG.

#26. Jlo xynoxupboi criaaiuau C. Konpimka Hanexxath Taki TBOPU:

1) ,,CkazanHs mpo ctaporo mopexoaus”, ,,Kyona-Xan”, ,,Kpicradens”
2) ,JTamomuunreo Yainen Maponsaa”, ,,Kopcap”, ,,Kyoma-Xan”

3) ,,CkazanHs mpo craporo Mmopexomis”, ,,AliBenro”, ,,Jlon XKyan”

4) , Kpicrabens”, ,,3BinbHenuii [Ipomereit”, ,,['syp”

5) ,.Kopcap”, ,,JliBa ozepa”, ,,[IpoBuna i ckopboTa”.

#27. Busnaure »aunp tBopy JIx.I. Baiipona ,,Jlon XKyan:

1) emicTonsipHUE poMaH
2) Nipo-ermiyHa moema

3) Tparemis

4) banana

5) midosoriuauii pomaH.



#28. JIoHTOHCHKMMHU POMaHTUKAMHU HA3UBAIOTh:

1) C. Konpimka, B. Bopacsopta, P. Cayri

2) Y. Jlema, JIi I'anta, B. Xesmirta, T. ne KBinci
3) C. Komnpimxka, I1.B. llemr, B. Ckorra

4) T. Kapaeiins, b. Jlizpaeni

5) cecrep bponre.

#29. ,,JliBa o3epa”, ,,IlicHst ocTraHHBOTO MeHecTpes”, ,,AWBEHTO”, ,,YeBepii” —
BKaXITh aBTOpa IIUX TBOPIB:

1) C. Kompimx
2) JIx.I. Baiipon
3) Jx. Kitc

4) B. Ckotr

5) E. Bponre.

#30. o Xym0oXHBO1 CHIaIITUHN Tix.I. Baitpona Hayie)xaTh HACTYIHI TBOPH:

1) moema ,,Jlon XKyan”

2) mictepis ,,Kain”

3) poman ,,Po6 Poii”

4) noema ,,Kopcap”

5) moema ,,Koponesa Ma6”.

Bapianr 2.
Find the mistakes in the texts and write the appropriate number

#1. About half way between (1) West Egg and New York the motor road hastily joins
the railroad and runs beside it (2) for a quarter of a mile, so as shrinking awey (3)
from a certain desolate area of land. This is a valley of ashes — a fantastic farm
where ashes grow like wheat into ridges and hills and grotesque gardens (4); where
ashes take the forms of houses and chimneys and rising smoke (5) and, finally, with a
transcendent effort, of men who move dimly and already crumbling through the
powdery air (6). Occasionally a line of gray cars crawls along (7) an invisible track,
gives off a ghastly creaks (8), and comes to rest, and immediately the ash-gray men
swarm up with leaden spades and stir up an impenetrable cloud, which screens their
obscure operations from your sight (9). (...)

1)15 2)38 3)24 4)67 5)19

#2. Rechargeable batteries are restoring coral reefs (1) in the tropical island of
Vanuatu. The tiny Pacific Island of Vanuatu has no main supply of electricity (2) —
inhabitant rely on batteries for their (3) electrical energy. Batteries are expensive and




account for a large proportion of (4) most families’ monthly income. They are also
difficult to dispose of (5) as they release an acids and toxic chemicals (6) as they
decompose (decay, rot). In Vanuatu, most households solved this problem by
dumping used (7) batteries into the sea. This was severely damaging to (8) the
island’s finest asset (benefit): its coral reefs. Chemicals seeping from the sunken
batteries were (9) poisoning fish and killing the coral. (...)

1)36 2)23 3)34 4)57 5)46

#3. A recent e-trade advertisement shows a baby speaking (1) directly to the camera:
'‘Look at (2) this,’ he says, 'I'm a free man. | go anywhere | want now.' He describes
his stock-buying activities, and then his phone rings. This advertisement proves what
comedians have known (3) for years: few things are as funny as a baby who talks_like
(4) an adult. But it also raises an important question: Why don't young children
express themselves clear (5) like adults? Many people assume children learn to talk
by copying what they hear. In other words, they listen to (6) the words adults use (7)
and the situations in which they use them and imitate accordingly (8). Behaviourism,
the scientific approach that has been dominated (9) American cognitive science for
the first half of the 20th century, made exactly this argument. (...)

1)14 2)28 3)36 4)45 5)59

#4. In the early 1960s, a new craze swept through (1) the coastal cities of the United
States. Being physically fit, the surfers wanted (2) some fun while the surf was low.
That’s when an energetic new pastime called skateboarding was born. The skateboard
was originally developed (3) by attaching a plank of wood to roller-skates. However,
skateboarding has undergone (4) dramatic changes since then. Professional
skateboarders are now using (5) plastic and fibreglass, which make (6) the boards
more durable and flexible. Nowadays, skateboarders spent (7) endless hours
performing tricks and stunts many of which are dangerous, so experts advise (8)
skateboarders to wear protective gear such as helmets and elbow and knee pads,
especially if they are not skillful. A skateboarder goes (9) through many falls before
becoming proficient, so it is sensible to take precautions against accidents. (...)

1)48 2)26 3)69 413 5)57

#5. Ours is a vanishing world, one in which the familiar is constantly disappearing
and technological change is often difficult (1) to cope with. So it should come as no
surprise to most of us to hear that yet another part of everyday life is about to go (2)
for ever. Apparently, within the next decade, money as we know it (3) will probably
cease to exist in technologically advancing countries (4). According to Professor
Gerry Montague of the Institute for Economic Reform, the familiar coins and
banknotes will soon be replaced (5) entirely by credit cards of various kinds. And the
shop of the future will have been linked directly (6) to the network of banking
computers. The assistant will simply key (7) in your bank account code number and
the amount you have spent (8), and thank you politely. You won't have to dig (9)
deep in your pockets for change. (...)




1)46 2)56 3)28 4)49 5)13

Fill in the gaps with the words from the options below. Write the appropriate
numbers in the same order WITHOUT PUNCTUATION MARKS.,

#6.The conversation had to be kept (...) the subject (...) Mr. Smith’s bankruptcy. It
was a source of embarrassment (...) the whole family.

1)to; 2)off; 3)on; 4)over; 5)under; 6)of; 7)with; 8)against; 9)from; 10)in touch with;

#7. The men were drinking together when an argument broke (...). The men soon
came (...) blows, and the publican called the police. The situation was just beginning
to get (...) hand, when the police arrived and took two men to the police station. One
man made a break (...) it, and succeeded (...) getting (...).

1)for; 2)with a; 3)out of; 4)away; 5)through; 6)from; 7)to; 8)out; 9)in; 10)of;

#8. I’d love to go (...) the concert (...) you but I can’t, I’'m afraid. I’'m (...) my ears (...)
work this week.

1)above; 2)in; 3)about; 4)to; 5)up to; 6)out of; 7)over; 8)for; 9)with; 10)by;

#9. In front (...) easel (...) an unfinished still life (...) oil stood a small group of people;
one (...) them was a well-known critic.

1)in a; 2)of; 3)for; 4)with; 5)in; 6)to; 7)from; 8)into; 9)of the; 10)in the

#10. Success will depend (...) great extent (...) his power (...) endurance. | know this
(...) my own experience.

1)upon a; 2)of; 3)without; 4)of a; 5)from; 6)to a; 7)on; 8)out; 9)to the; 10)out of

Choose the correct answer and write in the proper number in brackets

#11. Which of the nominal sentences given below expresses suppositional modality?
1) Poor thing!

2) Courage, wife!

3) Into that coppice the more light would have crept! There would be shadows...No
birds, beasts, flowers...

4) Times of the troubles.

#12. Examine the following sentences pointing out the one with a detached adverbial
modifier of attendant circumstances :




1)

1) An engine with a number of tracks was creeping up spluttering and snorting,
halting and knocking.

2) What will you do with yourself?

3) He was walking fast, with a large parcel under his arm.

4) My childhood was passed with my grandmother.

#13. Why does the OE vocabulary contain so few borrowings from the Celtic
languages?

1) there was no intermixture between Germanic settlers and the Celts

2) there was little intermixture between Germanic settlers and the Celts

3) the Celts had already undergone the influence from Latin

4) the Celts had migrated from the Isles by that time

#14. What group of verbs did the OE verbs cunnan, sculan, willan, magan and some
others belong too.
1) preterite-present verbs  2) strong verbs  3) weak verbs  4) class 3

#15. Identify the place(s) containing breach of the language norm (underlined) and
write the appropriate number (or numbers, if more than one, in the GROWING
sequence WITHOUT punctuation marks) in brackets:
My stamp collection does not make me to think only about past, when my

1 2

mother started collecting it for me. (........... )
3 4
Choose the correct answer and write in the proper number in brackets

#16. Alliteration is a type of (...)
1) phonemic repetition

2) morphemic repetition

3) lexical repetition

4) syntactic repetition

#17. The positional variants [z], [s], [1z] of the morpheme -(e)s are in (...)
distribution to the invariant form the invariant form.
non-contrastive 2) contrastive 3) complementary 4) proportional

#18. Examine the following sentences pointing out the when-clause expressing time
relations.

1) What I want to know is when you’re going to get married.

2) There were times when | wanted to stop the car and tell him to go out.

3) Scarcely had his hands touched her head, when she sighed deeply.

4) The next thing to discover was when the paint was last seen without that smear.

#19 The grammatical system that a learner creates in the course of learning another
language is called (...).



1) learner’s language
2) metalanguage
3) student’s language
4) interlanguage

#20. ldentify the place(s) containing breach of the language norm (underlined) and
write the appropriate number (or numbers, if more than one, in the GROWING
sequence WITHOUT punctuation marks) in brackets:
Whoever was in that house kept deadly still, and must have hold
1 2 3
his breathe. (............. )
4

Haeedimv npasunvhy 6ionosios (6ionoesioi) ma 3anuutime 6i0N0BIOHUI HOMED
(Homepu) y nopaokKy 3pocmanus 6e3 po30inosux 3HAKIG.

#21. B Mmexax sIKOoro JIITepaTypHOTO HampsMy po3BuBaiacs TBopuicth Y. [likkeHca,
E. Tacken, I1I. Bponre, B. Tekkepes?

1) ceHTHMEHTAII3M
2) pOMaHTH3M

3) KJIaCUYHUH peaizm
4) Hatypaizm

5) MoaepHi3M.

#22. BkaxiTh IBOX IIEHTpAJIbHUX MepcoHaxiB pomany E. bponte ,,I'po3oBuii
nepesan’:

1) PeGeka Illapn
2) Cubina Beiin
3) T'iTkmid

4) Ketpin Epnio
5) [xeiin Eiip.

#23. Jlo xynoxxupoi criammuau Y. JlikkeHca Halle)xaTh HACTYITHI TBOPHU:

1) ,,I'po3oBuii mepeBan”
2) ,JIepmi”

3) ,,OmniBep TricT”

4) ,.Baxki yacu”

5) ,,Xonoauui maim”.

#24. Busnaure xanp tBopy E. Tacken ,,Mepi Bapron™:



1) ingycTpianbHUN pOMaH
2) pOMaH BUXOBaHHS

3) MCUXOJIOTIYHMIA pOMaH
4) nipu4Ha apama

5) midomoriyHuii pomaH.

#25. o xynoxnboi cnaauau 111, Bporte Hanexxatb HaCTYITHI TBOPH:

1) ,,I'po3oBwuii nepeBan’”
2) ,lepmni”

3) ,,JIxeitn Eiip”

4) ,.Mepi bapton”

5) ,,Arnec Ipeii”.

Hagedimv npasuivny 6i0noesios (6i0noeioi) ma 3anuutime 6i0N0GIOHUIL HOMED
(Homepu) y nopaoky 3pocmanns 6e3 po30inioeux 3HAKIG.

#26. Aurmiicekuii ncuxosoriunui pomad XIX ct. OyB 3amo4aTkoBaHUMN

1) B. Toasinom
2) JIx. Octin

3) M. lemmi

4) Y. JlikkeHcoM
5) B. Bynd.

#27. I'irknid 1 Kerpin EpHiio — 11e mepcoHaxki poMany

1) E.Tacken ,,ITiBniu i miBaens”

2) E. Bponre ,,I'po3oBuii nepeBai”

3) U. Hixkenca ,,[Tpuroau Onisepa Tsicta”
4) JIx. Emiot ,,Mnun Ha ®rocci”

5) III. bponte ,,Jxeiin Eiip”.

#28. BkaxiTh 3pa3kul IHAYCTPiaTbHOTO pOMaHy B aHTJIIHCHKIH miTepaTypi XIX cT.:

1) ,,Jlxeitn Eiip” 111. Bponte

2) ,,Mepi bapron” E. Tacken

3) ,.Benuki cnogisannsa” Y. [likkeHca

4) ,Topaicts i ynepemkerss” JIx. OcTin
5) ,,Cubina, ado J[Bi Haii” b. Jlizpaenmi.

#29. BkaxiTs, sskuid pomad XIX cT. OyB Ha3BaHUI KOTO aBTOPOM ,,pOMAHOM 0€3

repos’”:



1) ,,SIpmapok cyetn” B. Tekkepes

2) ,,bapuecrepcrki Bexi” E. Tpomtomna
3) ,.I'po3oBuii nepesan” E. bponte

4) ,lepni” 1. BponTte

5) ,,Jlom0i i cun” Y. [likkeHca.

#30. BkaxiTh, XTO 3 HaBEJIEHUX aHINNHCHLKUX NUCEMEHHUKIB XIX CT. mucaB MOETHYHI
TBOPH IIi]] TICeBAOHIMOM OpartiB bemis:

1) E. Tacken i I1I. Bponre

2) Jx. Emior 1 E. Tposton
3) cectpu bponte

4) P. bpayuiur, E. Bpayninr
5) Y. Hdikkenc i B. Tekkepeti.

Bapianr 3.
Find the mistakes in the texts and write the appropriate number

#1. | followed him over a low whitewashed railroad fence, and we walked back a
hundred yards on the roads (1) under Doctor Eckleburg’s persistent stare (2). The
only building at sights (3) was a small block of yellow brick sitting on the edge of the
waste land (4), a sort of compact Main Street ministering to it (5), and contiguous to
absolutely nothing (6). One of the three shops it contained was for rent and another
was an all-night restaurant, approached by a trail of ashes (7); the third was a garage
— Repairs. George B. Wilson. Cars bought and sold. — and | followed Tom inside.
The interior was unprosperous and bare; the only car visible was the dust-covered
wreck (8) of a Ford which crouched in a dim corner (9). (...)

1)16 2)13 3)24 4)57 5)89

# 2. Rice paddies are essentially man-made wetlands (1), and if farmed organically
(2), they can provide an ideal feeding and reproductive habitat for rare species of
birds. Being followed the success of its rice brand (3), “Riet Vell” has begun
producing (4) organic pasta from wheat grown in the Ebro Valley (5) in Aragon,
Spain. Small-scale farmers are encouraged to uphold traditional (6) agricultural
practices, which protect the species — among them the Great Bustard, the Stone
Curlew and the Black-Bellied Sandgrouse — and participating farmers themselves (7),
who receives more now for their wheat (8) from the “Reit Vell” program than (9)
they would on the open market. (...)

1)14 2)18 3)38 4)34 5)58

#3._Ultimately (1), the organic farming movement is an expensive luxury for
shoppers in well-manicured (2) Europe. For developing parts of the world, it is




unrelevant (3). To European environmentalists, the fact that organic methods require
more labour and land than conventional ones (4) to get the same yields is a good
thing; to a farmer in rural Africa, it is a disaster. Here, land tends to be (5) so starved
and crop yields so low that there simply is not enough organic matter to put back into
the soil. Perhaps the focus should be on helping (6) these (7) countries to gain access
of (8) the most advanced farming techniques, rather than (9) going back to basics.

(..)
1)13 2)26 3)38 4)49 5)68

#4. Nowadays the most common balloon flights are usually for pleasure or sport, but
did you know that ballooning began (1) as a science in the 18" century? It all started
(2) in 1783, when the Montholfier brothers were looking into (3) the properties of
smoke. What caught (4) their attention was the fact that smoke could make (5) things
rise. They experimented (6) for a year or so before they were ready to show their
invention to everyone. On their first attempt (7), they filled a silk bag with hot air
from a fire. The balloon was rising (8) more than 1.5 kilometres into the sky. Five
months later, in November 1783, history was making (9) once more when the first
flight carrying passengers left the ground. The volunteers took off from Paris and
remained in the air for over twenty minutes. (...)

1)48 2)26 3)69 413 5)89

#5.Viewed from the outside at least, the Houses of Parliament look impressive. The
architecture gives the place (1) a traditional look, and the buildings are sandwiched
(2) between a busy square and the river, making them a cross (3) between the country
house of an eccentric duke and a Victorian railway station. You have only to learn (4)
that the members refer to each other as 'The Honourable Member ... to completing the
picture (5) of a dignified gentlemen's club, with of course a few ladies to make up the
numbers (6). Sadly, over the past few years first radio, and now television, have
shown the general public (7), who are after all the electorate, what in fact is gone on
(8) when bills are discussed and questions are asked (9). (...)

1)34 2)58 3)15 4)69 5)27

Fill in the gaps with the words from the options below. Write the appropriate
numbers in the same order WITHOUT PUNCTUATION MARKS.

#6.(...) the flight he was very much (...) edge, and didn’t start to relax (...)

the plane had landed.

1)as soon as; 2)at; 3)on; 4)for; 5)throughout; 6)by; 7)from; 8)under; 9)until;
10)without;




1)
2)
3)

4)

1)
2)
3)
4)

#7. It goes (...) saying that one of the disadvantages (...) being a doctor is that you are
frequently (...) call (...) weekends.

1)with; 2)beyond; 3)over a; 4)in; 5)on; 6)for; 7)at; 8)without; 9)of; 10)about;

#8. The Chancellor is constantly receiving suggestions (...) simplifying the tax
system. These have (...) occasion been quite sensible. (...) he has trashed (...) this
problem we will be able to go (...).

1)about; 2)around; 3)while; 4)as soon as; 5)as far as; 6)ahead; 7)by with; 8)on; 9)out;
10)with;

#9. When the headmaster found (...) that the children slept (...) the lights (...) he
inquired (...) the matter and the twilight sessions with Bedside Tales were put an end

().

1)on; 2)out of; 3)out; 4)in; 5)with; 6)to; 7)off; 8)about; 9)of; 10)beneath

#10. How sweet (...) you to have put down the curtains. Now we can go (...) the tea-
shop and have a bite. Pin (...) a note on Ed's desk to let him know we'll be back (...)
no time.

1)in the; 2)in; 3)from; 4)of; 5)to; 6)in a; 7)within; 8)out; 9)up; 10) upon

Choose the correct answer and write in the proper number in brackets

#11. Which of the descriptions below best describes the meaning of a “lemma’?

a set of nearly all the forms that have the same meaning

a minimal unit of syntactical analysis

the smallest segment of sound employed to form meaningful contrasts
between utterances

usually a non-oblique (direct) form that is chosen by convention to represent
the lexeme

#12. What is the term lexicon most commonly applied to in present-day lexicology?
a book containing a selection of the words of a language
a glossary of any size
informal vocabulary of a person
the total stock of meaningful units in a language

#13. Examine the following sentences pointing out adverbial clause of manner

1) The boy did exactly as he was ordered.

2) We were going up the road till we found the place.

3) As I didn’t reply, she sighed and turned away ...

4) Another day, at tea-time, as he sat alone at table, there came a knock at the front
door.




#14. Examine the following sentences pointing out subordinate subject clause
1) What he would do next he didn’t know.

2) | only write down what seems to be the truth.

3) What | saw tonight was an ending.

4) Miss Casement stopped what she was doing and stared at him.

#15. ldentify the place(s) containing breach of the language norm (underlined) and
write the appropriate number (or numbers, if more than one, in the GROWING
sequence WITHOUT punctuation marks) in brackets:
Dolly tidied up Ann's dining room carefully in exactly a same way
1 2 3
she accustomed to do at home. (................. )
4

Choose the correct answer and write in the proper number in brackets

#16. Examine the following sentences pointing out subordinate predicative clause
1) About what was to come she reflected not at all.

2) What | want is to be paid for what I do.

3) I dislike what you call his trade.

4) This was what had happened to himself!

#17. Examine the following sentences pointing out subordinate object clause
1) The trouble with you, Martin, is that you are always looking for a master.
2) That they were justified in this she could not but admit.

3) Rachel had become aware of the fact that she was talking loudly.

4) What I want to know is when you’re going to get married.

#18. ldentify the underlined fragment in terms of stylistics:
No, no, no. I mean the one who made such delicious pastry.
1) litotes  2) metaphor  3) epizeuxis  4) oxymoron

#19. The lyrical poems “The Wanderer” and “The Seafarer” are ascribed to:
1) Cynewulf 2) Ceedmon 3) Wulftan  4) Zlfric

#20. ldentify the place(s) containing breach of the language norm (underlined) and
write the appropriate number (or numbers, if more than one, in the GROWING
sequence WITHOUT punctuation marks) in brackets:
Freddy stamped noisy into the street, and a second or two later she
1 2
heard him to start up the car. (................. )
3 4

Bapianr 4.



Find the mistakes in the texts and write the appropriate number

#1. His voice faded off and Tom glanced impatiently around the garage (1). Then |
heard footsteps on stairs, and in a moment the thickish figure of a woman blocked out
the light (2) from the office door. She was in the middle thirties (3), and faintly stout
(4), but she carried her surplus flesh (5) sensuously as some women can. Her face,
above a spotted dress of dark blue crepe-de-chine, contained no facet or gleam of
beauty (6), but there was an immediately perceptible vitality about her (7) as if the
nerves of her body were continually smouldering. She smiled slowly and, walking
through her husband as if he were a ghost, shook hands with Tom, looking him flush
above the eye (8). Then she wet her lips, and without turnings back (9) spoke to her
husband in a soft, coarse voice. (...)

1)15 2)23 3)47 4)68 5)89

# 2. Bird-friendly farming in Spain has taken off (1) and it is benefiting the “Great
Bustard” bird. “Riet Vell” is a program that was set up in (2) 2001 by SEO Birdlife,
the oldest conservation charity (3) in Spain. It aims to demonstrate the feasibility of
(4) bird-friendly farming in the areas of ecological significance where farmland is an
Important habitat for the endangered species (5). The very project began by
producing organic rice (6) in the Ebro Delta district in Catalonia, Spain. Rice paddies
Is_essentially man-made wetlands (7), and if farmed organically, they can being
provide an ideal feeding (8) and reproductive habitat for rare species of birds (9). (...)

1)12 2)78 3)15 4)27 5)68

#3. The notion that organic food is safer (1) than 'normal’ food is also contradicted by
the fact that many of our most common foods are full of natural toxins. Parsnips
cause blisters on the skin of agricultural workers. Toasting bread creates carcinogens.
As one research expert says: 'People think that the more (2) natural something is, the
best (3) it is for them. That is simply not the case. In fact, it is the opposite that is
true: the closer (4) a plant is to its natural state, the most likely (5) it is that it will
poison you. Naturally, many plants do not want to be eaten (6), so we have spent
10,000 years developing agriculture and breeding out harmful traits from crops.' Yet
educated Europeans are more scared of eating traces of a few, strictly requlated (7),
man-made chemicals than they are of eating the ones that nature created directly.
Surrounded (8) by plentiful food, it's not nature they worry about, but technology.
Our obsessions with the ethics and safety of what we eat - concerns about antibiotics
in animals, additives in food, GM crops and so on- are symptomatic of a highly (9)
technological society that has little faith in its ability to use this technology wisely. In
this context, the less something is touched by the human hand, the healthier people
assume it must be. (...)

1)15 2)24 3)35 4)56 5)69

#4. As a journalist, ’'m asked (1) to travel around the globe to all sorts of foreign
countries. Over the years, I’ve used (2) different means of transport. Of course, for



long trips, flying is the fastest and safest way to reach a far-off destination.
Unfortunately, I’'m not a very organised traveller and despite my travel agent’s best
efforts, something always goes (3) wrong. Last week, while | was heading (4) for the
airport, | realised | had left (5) my passport at home. Obviously, | had to go back so |
asked the taxi driver to turn around and take me home. In the meantime, | crossed (6)
my fingers and hoped that | will not miss (7) my flight. All the way home, the driver
has been speeding (8) in and out of traffic. He got even more carried away when he
got on the motorway (9), travelling at speeds of up to 150 kilometres per hour. (...)

1)27 2)56 3)78 4)46 5)13

#5. Over the past fifty years or so, the methods having being used for (1) collecting
money from the public to aid the developing world (2) have changed out of all
recognition (3), along with the gravity of the problems faced, and the increasing
awareness among the population that something must be done (4). At the beginning
of this period, it would have been commonly (5) to put money in a collecting box,
perhaps on the street or at church. The 1960s saw the advent of shops (6) which sold
second-hand goods, donated by the public (7), and which also began to sell articles
(8) manufactured in the developing world in charitable projects set up to guarantee
(9) a fair income to local people. (...)

1)15 2)29 3)38 4)49 5)67

Fill in the gaps with the words from the options below. Write the appropriate
numbers in the same order WITHOUT PUNCTUATION MARKS.

#6.A large lady (...) an even larger shopping basket bumped (...) me the other day,
and practically knocked me (...). But they say nothing (...) the ordinary happened.

1)onto; 2)away; 3)off the; 4)over; 5)out of; 6)with; 7)at; 8)by; 9)into; 10)about;

#17.1f you’re (...) a loose end this weekend, Joan, why not come (...) for a meal? 1t’ll
give us a chance to catch (...) (...) some gossip.

1)with; 2)for; 3)up; 4)on; 5)at; 6)over; 7)to; 8)about; 9)without; 10)out of;

#8. Scientists are unable to account (...) the sudden increase (...) sunspot activity, (...)
some people believe that aerosols are (...) blame.

1)with; 2)of a; 3)as; 4)since; 5)for; 6)in; 7)to; 8)at; 9)on; 10)though;

#9. At last they agreed (...) never referring (...) that painful subject. They were
greatly concerned (...) what consequences such a return might pose

1)under; 2)upon the;3)towards; 4)within; 5)without; 6)in the; 7)to; 8)about; 9)on;
10)in




1)

1)

1)

#10. He was greatly worried (...) unmistakable threat (...) the letter. He was about
(...) tear it (...) when his wife looked (...) and asked what he was doing in there.

1)of; 2)up; 3)by; 4)in; 5)to; 6)down a; 7)upon; 8)about the; 9)on; 10)without

Choose the correct answer and write in the proper number in brackets

#11. Which of the following devices comes close in its semantics and pragmatics to
paradox?

oxymoron 2) metaphor 3) simile 4) epithet

#12. Examine the following sentences pointing out adverbial clause of result

1) She kept her back to the window that he might not see her rising colour.

2) His smile was so easy, so friendly that Laura recovered.

3) The box that the fur came out of was on the bed.

4) It was just luck that he didn’t catch the boat.

#13. Examine the following sentences pointing out subordinate attributive clause
1) He spent half this week in the place where he lodged with his sister.

2) He watched until the final wisps of smoke had disappeared.

3) He too had moved and was standing now where she had been a moment ago.
4) I don’t know where he developed his prose style.

#14. Examine the following sentences pointing out adverbial clause of cause

1) As dark night drew on, the sea roughened.

2) Joe left the house as he had entered it

3) As he had a liking for the spot, he seldom let a week pass without paying it a visit.
4) He was, as | saw him now, too fanciful and too erratic.

#15. ldentify the place(s) containing breach of the language norm (underlined) and
write the appropriate number (or numbers, if more than one, in the GROWING
sequence WITHOUT punctuation marks) in brackets:
Ann looked sadly when | saw her, and | understood in once that

1 2 3

something _happened. (................. )
4

Choose the correct answer and write in the proper number in brackets

#16. Old Kerrigan made a friendly gesture and an omelet for me.
oxymoron 2) zeugma 3) anadiplosis 4) metonymy

#17. Which of the following devices is based on similarity?
metaphor 2) epithet  3) hyperbole  4) hypallage




#18. In the sentence ‘He died the death of a hero’ the underlined word is ............
object.
1) cognate 2) recipient 3) non-recipient 4) direct

#19. Examine the following sentences pointing out adverbial clause of concession
1) Much as I admire the film, I’ll not go to see it again.

2) As the morning was fine he crossed the river by ferry.

3) As he spoke there was a sharp ring at the bell.

4) He was white and jaded, as if he had not slept for many nights.

#20. Identify the place(s) containing breach of the language norm (underlined) and
write the appropriate number (or numbers, if more than one, in the GROWING
sequence WITHOUT punctuation marks) in brackets:
We probably will never see each other again, and | wanted to let you
1 2
to know | hadn't been unfaithful to you, | wanted you to be left with a good
2 3 4
opinion of me. (...cocccveennee. )

Hagedimv npasuivny 6i0noesios (6i0noeioi) ma 3anuitime 6i0N0GIOHUIL HOMED
(Homepu) y nopaoky 3pocmannsa 6e3 po30inioeux 3HAKIG.

#21. BkaxiTh, XTO 3 HABEJICHUX MHUCHbMEHHUKIB OCTaHHBOI TpeTHUHHU XIX CT.
3BEPTABCS JI0 KAHPY ACTCKTUBHOI HOBEJIH:

1) O. Baiinn

2) T.Tapnai

3) A. Konan Jloiin
4) JTx. Konpan

5) C. bariep.

#22. BkaxiTh pOMaH, KM BBAXKAIOTh OJHUM 13 KpaIlluX 3pa3KiB ,,JIiTepaTypu
BTPA4YE€HOI0 MOKOJIHHSA:

1) ,,Cunu i koxaumi” JI.I'. Jloypenca

2) ,lleit muBoBmxHMIA HOBHit cBiT” O. ["akcimi
3) ,,Yaice” Jx. Jxotica

4) ,,Cmepts repos” P. Onginrrona

5) ,,O0min micusamu” 1. Jlomxka.

#23. BxaxiTh, pokoM sikoro anriiicekoro TBopy FOHECKO orosocumno 1984 pik:

1) pomany JIx. [Ixoiica ,,Yicc”



2) pomany B. Tonainra ,,Bonogap myx”

3) pomany JIx. dayn3za ,Kinka ppaHiy3pkoro JieiiteHanTa”
4) pomany JIx. Opsena ,,1984”

5) pomany JIxx. baprca ,,Ilamyra ®nodepa”.

#24. Buznaure xanp tBopiB B. Bynd ,,Micic Jennoseir”, ,,Jlo masika™:

1) cormianbHAN poMaH

2) mionoriyHui poMaH
3) catupuyHHil poMaH

4) pomMaH BUXOBaHHSI

5) MCHXOJIOTTYHUI pOMaH.

#25. HaiiBimoMinni aHTJIIACHKI pOMaHU-aHTUYTOMIT XX CT. HaJIekKaTh:

1) Jx. Toncyopcei
2) JIx. JIxoricy
3) O.T'akcmi

4) JIx. Opseny
5) C. Moewmy.

Haeedimv npasunvhy 6ionosios (6i0noesioi) ma 3anuutime 6i0N0BIOHUIL HOMED
(Homepu) y nopaoky 3pocmanns 6e3 po30iioeux 3HAKIG.

%

#26. Ha3BiTh ABOX IIEHTpaAJIbHUX NIepcoHaxiB pomany B. Bynd ,,Micic Jlennoseitr”:

1) Knapuca [lemnoseit
2) Emini Cemi

3) Bpenui Ilipcon

4) Cenrtimyc Cwmit

5) Mepion bBiym.

#27. BkaxiTh, XTO 3 HABEJICHUX aHTJIINCHKUX MUCbMEHHUKIB CTaB JlaypeaToM
HoGeniBchbkoi npeMii 3 giTepaTypu:

1) b. oy

2) JI. CrepH

3) P. Kimtinr

4) J1.I'. Jloypesnc
5) M. Toxcyopci.

#28. 1o xynoxuwoi cnaamuau k. J[>kolica Halle:kaTh HACTYIHI TBOPH:



1) 306ipka ,,JlyOminim”

2) ,,Cun# 1 KoxaHIi”

3) ,,YopHuuii mpunIr”

4) ,IlopTper MUTIS 3aMOJI0ay”
5) ,,Ymicc”.

#29. Hassits 1Bi Tpuitorii, siki ckiagarots GopcaiitiBeskuit nuki Jx. Toncyopci:

1) ,,Cara npo ®opcaiiti”

2) ,,YHIBepCHUTETChKA TPUJIOTis”
3) ,,boxecTBenHa Kome i’

4) ,,Tpu micta”

5) ,,CyuyacHa xomeis”.

#30. Jlo xymoxxupoi criaamuau . Bo Hanexxats Taki TBOpH:

1) ,,bina maBma”, ,,CpiOHa yioxka”, ,,Jleoeauna micHs”

2) ,, Kostuii Kpom”, ,,KonrpanyHkr”, ,,l{efi TMBOBH)KHUI HOBHIA CBIT”

3) ,.IIpuromu Omnieepa Teicta”, ,,JleiBin Kommepding”, ,,.Bemuki ciogiBanus’
4) ,Mep3enna mwiots”, ,, ) KMeHs nipaxy”, ,,3aHenan i pyiHais”

5) ,,Mamuna yacy”, ,,BiiiHa cBiTiB”.

b

Bapianr 5.
Find the mistakes in the texts and write the appropriate number

#1. There was music from my neighbour’s house through the summer nights (1). In
his blue gardens men and girls came and went like moths among the whisperings (2)
and the champagne and the stars. In hight tides (3) in the afternoon | watched his
guests diving from the tower of his raft (4), or taking the sun on the hot sand of his
beach while his two motor-boats slit (5) the waters of the sound, drawing aquaplanes
over cataracts of foam (6). On week-ends his Rolls-Royce became an omnibus, in
bearing parties to and from the cities (7) between nine in the morning and long past
midnight, while his station wagon scampered like a brisk yellow bug (8) to meet all
trains (9). (...)

1)16 2)37 3)24 4)58 5)91

#2. In the brains of the older bilinguals, there was also less activity in the prefrontal
(1) cortex and anterior Cingular cortex - two areas involved in being controlling (2)
what the brain is doing, not just regarding language (3) but in general. In other words
(4), the older bilingual brain appear to function more efficiently then the older (5)
monolingual brain - using less energy to complete the same kinds of brain processing
tasks (6). When it came to speed, performance for older bilinguals fell in between
that of younger bilinguals and older monolinguals . And the same were true for brain




activity (7), suggesting that speaking two languages doesn’t stop aging-related
declines (8) but might help slow down (9) the process. (...)

1)25 2)27 3)57 4)45 5)47

#3. Organic farming is often claimed to be safer (1) than conventional farming - for
the environmental (2) and for consumers. Yet studies into organic farming worldwide
continue to reject this claim. An extensive review by (3) the UK Food Standards
Agency found that there was no statistically significant difference between organic
and conventional crops. Even where results indicated there was evidence of a
difference, the reviewers found no sign that these differences would have any
noticeable effect on health. The simplistic claim that organic food is more nutritious
than conventional food was always likely (4) to be misleading. Food is a natural
product, and the health value of different foods (5) will vary for a number of reasons,
including freshness, the way the food is cooked, the type of soil it is grown (6) in, the
amount of sunlight and rain crops have received, and so on. Likewise, the flavour of a
carrot has less to do with whether it was fertilised with manure or something out of a
plastic sack than (7) with the variety of carrot and how long ago it was dug (8) up.
The differences created by these things are likely to be greater than any differences
brought about by using an organic or nonorganic system of production. Indeed, even
some ‘organic' farms are quite different from some (9) another. (...)

1)29 2)37 3)47 4)69 5)78

#4. Arthritis is a general term for aches and pains (1) in the body’s joints. Most types
of arthritis involve (2) the deterioration of cartilage, which is an essential material
covering (3) the ends of the bones in the joint. When the healthy cartilage wears out
(4), it becomes (5) rough and this causes pain when the joint moves. This condition is
more common among the elderly, but some people can be sufferers from childhood.
Apart from traditional painkillers, little or no treatment is available. However,
ambitious scientists have designed (6) artificial joints that can replace the painful,
worn-out ones. These new joints could prove (7) very beneficially for (8) arthritis
sufferers. Although some believe that joint replacement may be costly, numerous
patients anxiously waited (9) for this medical breakthrough. (...)

1)89 2)23 3)79 413 5)12

#5. Interpreting the feelings of other people is not always easy (1), as we all know,
and we rely as much on (2) what they seem to be telling us, as on the actual word
they say (3). Facial expressions and tone of voice are obvious ways of showing (4)
our reaction to something, and it may well be that we unconsciously express (5)
views that we are trying to hide. The art of being tactful lie in picking up (6) these
signals, realising what the other person is trying to say (7), and acting so that they are
not embarrassed in any way. For example, we may understand that they are in fact
reluctant (8) to answer our question, and so we stop pressing them. Body movements
in general may also indicate feelings, and interviewers often pay particular attention
to (9) the way a candidate for a job walks into the room and sits down. (...)




1)12 2)48 3)79 4)58 5)36

Fill in the gaps with the words from the options below. Write the appropriate
numbers in the same order WITHOUT PUNCTUATION MARKS.

#6. The company president promised to step (...) (...) his position could be occupied
(...) a younger person. (...) he backed (...) when he saw how difficult it was (...) the
company.

1)than; 2)when; 3)for; 4)by; 5)although; 6) however; 7)down; 8)so that; 9)out;
10)with;

#7. The day (...) the man was released (...) prison, he set fire (...) a bus.

1)to; 2)on the; 3)with; 4)for; 5)in a; 6)without; 7)from; 8)after; 9)at which; 10)over;

#8. (...) he was talking (...) the suspect, the policeman caught sight (...) a bloodstain
(...) her sleeve.

1)despite; 2)moreover; 3)within; 4)of; 5)in; 6)as; 7)on; 8)to; 9)out of;10)away from;

#9. Harold’s younger boys had been (...) home (...) months; so far as he knew the kids
were getting (...) and making good progress.

1)away; 2)away from; 3)out from; 4)for; 5)for a; 6)for the; 7)on good; 8)on well;
9)along good; 10)away from the

#10. (...) if they are (...) sale, these refrigerators are equal (...) price (...), (...) not more
expensive, the ones at the other store.

1)in; 2)beside; 3)on; 4)if; 5)under; 6)ones; 7)to; 8)by; 9)even; 10)once

Choose the correct answer and write in the proper number in brackets

#11. A sentence in which one or more word-forms in the principal positions are
omittediscalled ..................... .
1) elliptical 2) one-member 3) unextended 4) two-member

#12. These were such nice people, friendly and helpful.
1)detachment ~ 2) simile  3) antithesis  4) parenthesis

#13. They can’t see beyond their jobs. They can’t see what’s happening to them.
They hang on to their chains.
1) lexical anaphora 2) syntactic anaphora 3) lexical epiphora 4) anadiplosis




#14. Identify the type of predicate in the sentence “And so after all, the Padre had
been thinking of letting him escape”.

1) compound nominal 2) compound verbal aspect 3) compound verbal modal

4) simple verbal

#15. Identify the place(s) containing breach of the language norm (underlined) and
write the appropriate number (or numbers, if more than one, in the GROWING
sequence WITHOUT punctuation marks) in brackets:
If you want to cook a meal, that's up for you, just tell which day you
1 2
want and bring your own groceries. (......c......... )
3 4

Choose the correct answer and write in the proper number in brackets

#16. Robert wished to be present there to witness McCarnegie’s triumph and Coxie’s
failure.
1) gradation 2) oxymoron 3) enumeration 4) antithesis

#17. The ................. predicate shows whether the action is looked upon as
(im)possible, obligatory, necessary, desirable, planned or certain.

1) compound verbal modal 2) compound nominal 3) compound verbal 4)
simple verbal

#18. Transformational analysis is a verification tool in (...)

1) syntax

2) morphology

3) lexicology

4) phonology

#19. The teacher asks students to skim the text. Which of the following should they
do?

1) Read the text relatively fast to find specific information.

2) Read the text relatively fast to understand the gist.

3) Read the text slowly and carefully for the global meaning.

4) Read the text for detailed comprehension.

#20. ldentify the place(s) containing breach of the language norm (underlined) and
write the appropriate number (or numbers, if more than one, in the GROWING
sequence WITHOUT punctuation marks) in brackets:
Victor and | have known each other for childhood and I can fully rely to

1 2 3 4
him even now when | am thirty. (................ )

D



Hageodimv npasunvhy 6i0nogiov (6i0noeioi) ma 3anuuiims 6i0nN0GIOHUI HOMED
(nomepu) y nopaoky 3pocmanns 6e3 po30inioeux 3HAKI6.

#21. Ha3BiTh aHrmiiicekux apaMatypriB XX CTOJITTS:

1) B. Bynd

2) JIx. Toncyopci
3) b. llloy

4) T. Bemic

5) I'. [linTep.

#22. ,, Kostuit Kpom”, ,, Korrpamynkr”, ,,I{efi 7uBOBH)HUI HOBHI CBIT — BKaXITh

dBTOpa Oux TBOpiBZ

1) I'. Bemic

2) O.Takcmi

3) B. Byad

4) k. [Ixoiic
5) J.I'. JloypeHc.

#23. Iloemy T.C. Emiora ,,be3ruigHa 3emis” BUSHAYAIOTh SIK:

1) moemy-mid

2) Jipo-erniyHy moemy
3) emiyHy moemy

4) npamMaTU4HY IMOEMY
5) catupuyHy moemy.

#24. Jlo xynoxuboi criaaiuau B. Bynd Hanexxats HacTyIH1 TBOPH:

1) ,.Micic Jlemnoseit”

2) 30ipKa ,,3BUYaiHMI YnTay”
3) ,,Jlo maska”

4) ,JToBiCTh PO CTAPUX KIHOK”
5) ,,Jlopx Jxum”.

#25. BkaxiTh >xanp TBopiB I'. Bennca ,,Mammna vacy”, ,,Biiina cBiTiB”:

1) cormianbHO-(paHTACTUYHUI pOMaH
2) MOpPCBHKHI poMaH

3) coriaibHO-TIOOYTOBHIA POMaH

4) mCUXOJIOTIYHUI poMaH

5) mereKTHBHA HOBEIIA.



Hageodimv npasunvhy 6i0nogiov (6i0noeioi) ma 3anuuiims 6i0nN0GIOHUI HOMED
(nomepu) y nopaoky 3pocmanns 6e3 po30inioeux 3HAKI6.

b

#26. Ha3BiTh poMaHH, siKi ckiaanaroTh Tpuiorito k. Toncyopci ,,CydacHa Komemis™:

1) ,,42 napanens”

2) ,,bima maBma”

3) ,,CpiOHa oxka”
4) ,Jlebenuna micHs”
5) ,.BoacHuk”.

#27. 1o xynoxuawoi cnaaiuay [1. Akpoiiia HajlexxaTh Taki TBOPU:

1) ,,Canomes”, , IToprper Jopiana I'pes”, , Illacnusuii npuHI(”’

2) ,,OctpiB ckap6iB”, ,,YopHa ctpina”, ,,Bomonap bamnantpe”

3) ,.Kazapmeni 6anaan”, ,,Kaura mxyurmis”, ,,Kim”

4) ,Jlopn Jxum”, ,,JI3epkano mopis”, ,,Cepiie TeMpsiBu”

5) ,,MimeToH B Amepumi”, ,,OcranHiii 3amoBiT Ockapa Bainnma”, ,,AHTIIIHCBEKa
My3HKa .

#28. ABTOp pomany ,,Bomomap myx” — 11e

1) Y.IT. CHoy

2) I'. I'pin

3) B. Tonuinr

4) JIx. dayns

5) Jx. Jlinaceii.
#29. Ha3BiTh nIpeiCTaBHUKIB MOCTMOICPHI3MY B aHTJIHCHKIH JTiTepaTypi Ipyroi
1oJoBUHU XX CT.:

1) O.T'akcmi
2) U.II. CHoy
3) JIx. bapuc
4) Jx. dayns
5) Jx. Onapimx.
#30. BkaxiTh, sIKi 3 HABEJICHUX TBOPIB HAJIEXKATh /10 XYA0KHbOI CIIA IIIMHH

A. Mepaok:

1) ,,.Hopuwuii npuHI”

2) ,,Tuxuii amepuKaHenp”
3) ,.Jlanmyra ®no6epa”

4) ,Ilix citkoro”

5) ,.Konekmionep”



	#17. The positional variants [z], [s], [ız] of the morpheme -(e)s are in  (…)  distribution to the invariant form the invariant form.
	1) non-contrastive 2) contrastive  3) complementary  4) proportional

